

Timber sales Tender of standing timber & logs



Forestry Commission Scotland

Sale of Timber

Tender of Standing Timber and Logs

To be opened at FE Scotland, Head Office On 22 June 2016 at 12.00 hours

Sawlogs at Roadside	33070 m3ub
And	15050 Tonnes
Standing Timber	196924 m30BS

Please note this catalogue is for information only and bids received using the tender form attached will be excluded from the sale.

All bids for this sale must be submitted through the E-sales system.

For information on registering as an E-sales user please contact Derek Douglas at 01698 222447

General Conditions of Sale

- 1. All timber on offer in this sale is covered by Chain of Custody Certificate No SGS-FM/CoC-010301 FSC 100%. This certificate was issued on 12 November 2014 under the QUALIFOR Programme by SGS Forestry.
- 2. The sale of each Lot is subject to the Standard Contract, specimens of which may be obtained from the Chief Executive, Forest Enterprise Scotland, 1 Highlander Way, Inverness Business Park, Inverness IV2 7GB (Telephone: 03000676000). These agreements describe the normal terms of trading; application of these terms, which is at the sole discretion of the Forest Enterprise is subject to the establishment of satisfactory credit worthiness.
- 3. The description of the trees in the Sale Catalogue is believed to be accurate but is not guaranteed except as to the number of trees in tariffed Standing Timber Agreements offered for a lump sum. In all other respects the Purchaser is held as satisfying himself as to the description of the Sale Lots.
- 4. Arrangements to inspect the timber should be made direct with the Forest District staff listed. An address list is on the last page of this catalogue. Site boundaries will be clearly marked in a common manner. External boundary trees will be marked with white tape or marking, i.e. the trees to be left standing after harvesting operation. Purchasers will be deemed to have acquainted themselves with arrangements for access and constraints, if any, in respect of each Lot, details of which are also available from the Forest District.
- 5. Prospective purchasers are advised to consult a copy of the map of timber haulage (preferred) routes on public roads before bidding for the lots where these apply. Copies of all the maps together with a statement of preferred routes are held by the Forest District Managers and also all local authority Divisional road Surveyors within the Region.
- 6. The commencement and completion dates for all agreements are as indicated against each Lot in the catalogue.
- 7. No Lot carries entitlement to continuity of supplies of timber outside the terms and conditions of the Agreement.
- 8. All bids/offers shall be exclusive of Value Added Tax, which shall be added to the purchaser price of each Lot at the appropriate rate.

Particulars of Sale

Standing Timber

- 1. Lots are either offered for lump sum bids or bids per tonne as clearly described on the top of each page in this catalogue.
- 2. Lots offered for lump sum bids All volume estimates have been derived from a full Tariff unless otherwise stated. Tariff sheets may be inspected by appointment at the relevant Forest District Office. Volumes quoted for such sales in this catalogue are estimates of the volume of the standing trees only. The prospective purchaser shall therefore be deemed to have formed his own estimate of volume and nothing herein or in the said record shall be taken as a representation including a contract or as a condition or warranty forming part of the contract if and where made.
- 3. Purchasers will be deemed to have satisfied themselves as to the occurrence of butt rot and stain and no subsequent allowance or reduction will be made.
- 4. Prospective purchasers are advised to obtain a copy of the Harvesting Site Plan from relevant Forest District Managers for each standing sale. These plans detail specific operational requirements for each sale parcel.
- 5. Purchasers will be deemed to be acquainted with the provisions of the Forestry Commission's Forests and Water Guidelines publication and to ensure that they are accorded with in their harvesting operations

Logs at Roadside

- 6. Presentation of sawlogs for sale will be in accordance with the Forestry Commission's Field Book No.9 "Classification and Presentation of Softwood Sawlogs", a copy of which can be obtained on request from the Chief Executive, Forest Enterprise, Scotland, 1 Highlander Way, Inverness Business Park, Inverness IV2 7GB
- 7. Lots are either offered for a price per cubic metre underbark or for a price per tonne as clearly described on the top of each page in this catalogue.
- 8. Where lots are offered for a price per cubic metre underbark the volume of the timber will be calculated from the weight of loads supplied, converted to volume using volume/weight fixed conversion factors where such agreements currently exist between Forestry Commission Scotland and

relevant parties. Successful purchasers that do not have an agreement for fixed conversion factors with Forestry Commission Scotland shall be given the opportunity to adopt the relevant fixed conversion factor(s) based on the national data set within the relevant supplying location. Failing such an agreement being reached, conversion factors shall be calculated from measurements of the volume of 1:10 sample loads. The volume of the sample loads will be obtained by the methods described in Field Book 9.

9. The average DBH of the standing trees from which the logs will be produced is an estimate only, provided for the guidance of prospective purchasers - it is not guaranteed.

Species Codes and Abbreviations

SP	Scots Pine
LP	Lodgepole Pine
СР	Corsican Pine
MP	Mixed Pine
EL	European Larch
ESF	Silver Fir
HL	Hybrid Larch
JL	Japanese Larch
ML	Mixed Larch
NS	Norway Spruce
SS	Sitka Spruce
MS	Mixed Spruce
DF	Douglas fir
GF	Grand fir
NF	Noble fir
WH	Western Hemlock
OMS	Serbian Spruce
MOP	Mountain Pine
LC	Lawson's Cypress
RC	Western Red Cedar
MC	Mixed Conifer
MB	Mixed Broadleaves
BE	Beech
RON	Nothofagus Obliqua
cm	Centimetres
m ³	Cubic Metres
m	Metres
TD	Top Diameter
UB	Underbark
ОВ	Overbark
DBH	Diameter at Breast Height
На	Hectares

FOREST ENTERPRISE, SCOTLAND - STAFF LIST

Forest Enterprise Scotland

Head Office

1 Highlander Way Inverness Business Park Inverness IV2 7GB Tel No: 0300 067 6000

Simon Hodge

Chief Executive

Trefor Owen

Head of Land Management

Forest Enterprise South Scotland

Management Office 55/57 Moffat Road **Dumfries DG1 1NP** Tel No: 01287 272440 Mike Green

Harvesting & Marketing Officer (up to 6th June 2016) 0300 067 6505

Mick Bottomley (from 6th June 2016)

Head of Marketing and Sales

(tbc)

Derek Douglas Operations Business Manager

0300 067 6502 (direct line)

AREA OPERATIONS REGIONS

Highland Region

Inverness Forest District Office Smithton, Inverness, IV1 2NL Tel No: 0300 067 6100 Forest Districts within Region North Highland Forest District Inverness Ross & Skye Forest District Julian Fryer Chris Bradley Area Operations Manager, HighlandAssistant AOM, Highland & Grampian

Grampian Region

Ordiquhill, Portsoy Road, Huntly AB54 4SJ Tel No: 01466 – 794161 Forest Districts within Region Moray & Aberdeenshire Forest District Alastair Young Chris Bradley

Area Operations Manager, GrampianAssistant AOM, Highland & Grampian

Central Region

Cowal & Trossachs Forest District Office Aberfoyle, Stirling FK8 3UX Tel No: 0300 067 6600 Forest Districts within Region Cowal & Trossachs Forest District Tay Forest District Scottish Lowlands Forest District

Nick Wilby Shirley Leek - Area Operations Manager, Central

- Assistant AOM, Central

Argyll & Lochaber Region

West Argyll Forest District Office Whitegates, Lochgilphead, PA31 8RS Tel No: 0300 067 6650 Forest Districts within Region West Argyll Forest District Lochaber Forest District Neil Proctor TBC

- Area Operations Manager, Argyll &Lochaber

- Assistant AOM, Argyll & Lochaber

South Scotland Region

Galloway Forest District Office Creebridge, Newton Stewart, DG8 6AJ Tel No: 0300 067 6800 Forest Districts within Region Galloway Forest District Dumfries & Borders Forest District Neil Murray - Area Operations Manager, South Scotland Colin Saunders - Assistant AOM, South Scotland (Dumfries & Borders) Graeme Cannon - Assistant AOM, South Scotland (Galloway)

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.01	WEST ARGYLL	Clearfell							25/07/16 to	£
	Am Breacadh	20% windthrow	SS	5938	11602	0.512	24	B6	31/01/17	
			SS	1774	4795	0.370	22	NA		
			SS	1236	6266	0.197	17	B6		Per tonne
	F32136		SS	451	1944	0.232	20	B6		. 5. 155
			LP	346	1104	0.313	22	B6	Estimated weigh	nt 8138 tonnes
			SS	330	1284	0.257	19	B6		
				10075	26995	0.373				

This site will not require Urea application.

All bids must be made via the Forestry Commission's online e-sales system (www.esales.eforestry.gov.uk) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

T ARGYLL an Dubh 38 site will require Urea appli	Clearfell 55% windthrow cation.	LP SS LP SS SS	1516 787 693 590 174	3291 3540 1504 1960 783	0.461 0.222 0.461 0.301 0.222	18 24 20	B6 B6 NA B6 NA	11/07/16 to 31/01/17 Estimated weight 310	£ Per tonne 07 tonnes
38		SS LP SS	787 693 590 174	3540 1504 1960 783	0.222 0.461 0.301 0.222	18 24 20	B6 NA B6	31/01/17	
	cation.	LP SS	693 590 174	1504 1960 783	0.461 0.301 0.222	24 20	NA B6	Estimated weight 310	
	cation.	SS	590 174	1960 783	0.301 0.222	20	B6	Estimated weight 310	
	cation.		174	783	0.222			Estimated weight 310	
site will require Urea appli	cation.	SS				18	NA	Estimated weight 310	07 tonnes
site will require Urea appli	cation.		3760	11078	0.339				
site will require Urea appli	cation.								
T ARGYLL	Clearfell							25/07/16	£
ale	50% windthrow	SS	1689	3569	0.473	24	B6	to 31/01/17	
		SS	1079	2295	0.470	24	NA		
		LP	713	1614	0.442	24	B6		Per tonne
39		SS	696	1488	0.468	25	B6		i di tollilo
			4177	8966	0.466			Estimated weight 339	92 tonnes
3	9		SS SS	SS 696 4177	SS 696 1488 ——————————————————————————————————	SS 696 1488 0.468 4177 8966 0.466	SS 696 1488 0.468 25 4177 8966 0.466	SS 696 1488 0.468 25 B6 4177 8966 0.466	SS 696 1488 0.468 25 B6 Estimated weight 339

R GYLL ag	Clearfell 15% windthrow	SS	10926					25/07/16	£
ag	15% windthrow	SS	10926					+0	
			10020	27240	0.401	23	B6	to 28/02/17	
			10926	27240	0.401				
									Per tonne
will not require Urea application		Estimated weight 881	1 tonnes						
RGYLL	Clearfell							11/07/16	£
rrach	10% windthrow	SS	5913	16171	0.366	23	B6	to 28/02/17	
			5913	16171	0.366				
									Per tonne
will not require Urea application	on.							Estimated weight 476	
					rrach 10% windthrow SS 5913 16171	rrach 10% windthrow SS 5913 16171 0.366	rrach 10% windthrow SS 5913 16171 0.366 23	rrach 10% windthrow SS 5913 16171 0.366 23 B6	to to 10% windthrow SS 5913 16171 0.366 23 B6 28/02/17

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.06	TAY	Clearfell							04/07/16 to	£
	Rannoch Lodge West	60% windthrow	SS	5334	8000	0.667	30	NA	31/03/17	
			LP	3600	15000	0.240	20	NA		
			DF	350	750	0.467	30	NA		Per tonne
	F32129		NF	350	500	0.700	30	NA		. 6. 166
			NS	350	850	0.412	25	NA	Estimated weigh	it 8464 tonnes
			SP	325	1200	0.271	22	NA		
				10309	26300	0.392				

Urea application required on standing areas only. Figures are estimates based on production forecast, see comments in special conditions.

All bids must be made via the Forestry Commission's online e-sales system (www.esales.eforestry.gov.uk) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

T O	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
7	TAY	Clearfell/Thinning							04/07/16 to	£
	G Prosen Cairn Shiel, Glen Prosen	10% windthrow	JL	1171	2306	0.508	25	B6	01/12/16	
	16		SP	1058	3219	0.329	24	B6		
			LP	716	4584	0.156	17	B6		Per tonne
	F32167		LP	68	157	0.433	26	B6		1 01 1011110
	. 52.5.		SP	23	77	0.299	23	B6	Estimated weigh	nt 4549 tonnes
			HL	580	1776	0.327	21	B6		
			SP	506	1744	0.290	21	B6		
			SP	421	921	0.457	24	B6		
			SS	366	375	0.976	33	B6		
			SP	327	1964	0.166	17	B6		
			EL	201	381	0.528	25	B6		
			NF	52	46	1.130	36	B6		
				5489	17550	0.313				

This site will require Urea application. Site comprises two coupes, separated out in SS Particulars Report.

All bids must be made via the Forestry Commission's online e-sales system (www.esales.eforestry.gov.uk) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.08	MORAY, ABERDEENSHIRE	Clearfell							01/08/16 to	£
	Gillymule	50% windthrow	EL	1721	1887	0.912	31	B6	31/03/17	
			HL	1203	1773	0.679	29	B6		
			LP	1000	2849	0.351	21	B6		Per tonne
	F32180		SP	619	1936	0.320	22	B6		i oi toimo
			SS	397	1320	0.301	21	B6	Estimated weigh	nt 4996 tonnes
			SS	346	1189	0.291	23	B6		
			SS	331	325	1.018	35	B6		
			SP	221	229	0.965	37	B6		
			LP	183	1045	0.175	17	B6		
			LP	103	772	0.133	16	B6		
			SP	33	50	0.660	33	B6		
				6157	13375	0.460				

This site will require Urea application.

All bids must be made via the Forestry Commission's online e-sales system (www.esales.eforestry.gov.uk) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.09	NORTH HIGHLAND	Clearfell							01/07/16 to	£
	Wallace Hill	5% windthrow	SP	2594	12352	0.210	20	B6	31/03/17	
			SP	1798	44950	0.040	11	B6		
	F32210		SP	1781	6141	0.290	22	B6		Per tonne
				6173	63443	0.097			Estimated weight	5562 tonnes
1.10	This site will require Urea applic	Clearfell							04/07/16	£
	Camisky Hill	50% windthrow	SS	21764	57274	0.380	21	B6	to 31/01/17	
			LP	9476	69678	0.136	16	B6		
	F32141		HL	794	1772	0.448	24	B6		Per tonne
				32034	128724	0.249			Estimated weight	26099 tonnes
	This site will require Urea applic	cation.								

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.11	COWAL AND TROSSACHS	Clearfell							01/08/16 to	£
	Woodburn	5% windthrow	JL	2759	3400	0.811	28	B6	31/03/17	
			NS	2638	4043	0.652	28	B6		
			SS	1674	1927	0.869	29	B6		Per tonne
	F31911		NS	120	200	0.600	27	B6		
				7191	9570	0.751			Estimated weigl	nt 5677 tonnes

This site will not require Urea application.

All bids must be made via the Forestry Commission's online e-sales system (www.esales.eforestry.gov.uk) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.12	COWAL AND TROSSACHS	Clearfell							01/08/16 to	£
	Barancarry	25% windthrow	SS	5603	4793	1.169	32	B6	31/05/17	
			NS	4813	6900	0.698	28	B6		
			JL	1819	2598	0.700	26	B6		Per tonne
	F31939		LC	400	600	0.667	23	B6		r or tornio
			SS	366	621	0.589	26	B6	Estimated weight	t 10765 tonnes
			LP	175	798	0.219	19	B6		
			SP	158	446	0.354	23	B6		
				13334	16756	0.796				

This site will require Urea application.

All bids must be made via the Forestry Commission's online e-sales system (www.esales.eforestry.gov.uk) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
.13	SCOTTISH LOWLANDS	Clearfell							01/08/16 to	£
	Whitelee 82	10% windthrow	SS	7036	17183	0.409	23	B6	28/02/17	
			SS	5508	8748	0.630	27	B6		
	F00050		SS	1670	3334	0.501	26	B6		Per tonne
	F30350		JL	489	1527	0.320	21	B6		
			JL	248	523	0.474	24	B6	Estimated weigh	t 12005 tonnes
				14951	31315	0.477				
	This site will not require Urea ap	pplication.								
.14	This site will not require Urea ap	oplication. Clearfell							18/07/16	£
.14			SS	2416	2700	0.895	32	B6	18/07/16 to 30/11/16	£
.14	SCOTTISH LOWLANDS	Clearfell	SS SS	2416 768	2700 1875	0.895 0.410	32 23	B6 B6	to	£
.14	SCOTTISH LOWLANDS	Clearfell							to	£ Per tonne
.14	SCOTTISH LOWLANDS Blairadam 24 & 251	Clearfell		768	1875	0.410			to	Per tonne

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
.15	GALLOWAY	Clearfell							29/06/16	£
	Old Edinburgh Road	5% windthrow	SS	9051	16661	0.543	25	В6	to 31/12/16	
	Ç .		LP	2635	7207	0.366	23	B6		
	F31801			11686	23868	0.490				Per tonne
	This site will require Urea applica	ation. Summer working o	nly on restricte			0.490			Estimated weight 9	9513 tonnes
	conditions for details.									
.16	GALLOWAY	Clearfell							29/06/16	£
	Loch Doon, Polrobin Burn	5% windthrow	SS	10048	31008	0.324	21	B6	to 31/01/17	
			JL	505	968	0.522	21	B6		
			SS	10048	31008	0.324	21	B6		Per tonne
	F32178		JL	505	968	0.522	25	B6		
			SS	474	1307	0.363	22	B6	Estimated weight	17505 tonnes
			JL	144	245	0.588	27	B6		
			SS	86	900	0.096	15	B6		
				21810	66404	0.328				
	This site will not require Urea app Report.	olication. Site comprises	two coupes, s	eparated out in	SS Particula	ırs				

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.17	GALLOWAY	Clearfell							01/08/16	£
	Knockreach, Water Of Coyle, North	20% windthrow	SS	13176	52155	0.253	19	B6	to 01/07/17	
	Kyle 104		JL	368	847	0.434	25	B6		
			SS	2557	6120	0.418	23	B6		Per tonne
	F32192		SS	1937	9179	0.211	19	B6		i di tomic
	. 62.62		JL	34	112	0.304	22	B6	Estimated weight	t 15519 tonnes
			SS	839	1563	0.537	26	B6		
			JL	402	1506	0.267	20	B6		
				19313	71482	0.270				

This site will not require Urea application. Site comprises three coupes, separated out in SS Particulars Report.

All bids must be made via the Forestry Commission's online e-sales system (www.esales.eforestry.gov.uk) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.18	DUMFRIES AND BORDERS	Clearfell							01/07/16	£
	Foxes Holes	5% windthrow	JL	881	840	1.049	32	B6	to 31/12/16	
			SS	392	208	1.885	43	B6		
	F32162		DF	35	16	2.188	47	B6		Per tonne
	. 02.02			1308	1064	1.229			Estimated weigh	at 991 tonnes
	This site will require Urea applicati required.			Discounty in or						
 I.19									11/07/16	£
 I.19	DUMFRIES AND BORDERS	Thinning					46	A4	to	£
.19	required.		EL SS	764 702	360 484	2.122 1.450	46 40	A4 A4		£
.19	DUMFRIES AND BORDERS Long Wood	Thinning	EL	764	360	2.122			to	£ Per tonne
1.19	DUMFRIES AND BORDERS	Thinning	EL SS	764 702	360 484	2.122 1.450	40	A4	to	Per tonne

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.20	DUMFRIES AND BORDERS	Clearfell							27/06/16 to	£
	Glenyerrock	40% windthrow	DF	2063	3851	0.536	25	B6	30/11/16	
			SS	1845	2550	0.724	28	B6		
			SS	1334	1892	0.705	27	NA		Per tonne
	F32214		DF	942	2175	0.433	24	NA		T OF TOTAL
			SS	396	473	0.837	29	B6	Estimated weigh	t 5716 tonnes
			SS	344	488	0.705	27	B6		
			SS	217	600	0.362	24	NA		
			DF	139	321	0.433	24	B6		
				7280	12350	0.589				

This site will require Urea application. Council road C15s is a severely restricted route. Steep ground may require winch assist for some areas.

All bids must be made via the Forestry Commission's online e-sales system (www.esales.eforestry.gov.uk) as detailed in the general conditions of sale at the front of this catalogue. In the event that the Forestry Commission's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.01	TAY	16 cm	650 M3UB Roadside	3.7 - 6.2 m 40	18/07/16 to 30/11/16	£
	Allean Car Park	MC	Green Logs			Per m3UB
	F32063			Contains a small quantity of Sub-division of MC (MS 54%)	oversize SS and DF. 6, DF 23%, ML 15%, SP 8%).	
2.02	TAY	16 cm	1500 M3UB Roadside	3.7 - 6.2 m 35	27/06/16 to 31/12/16	£
	Frenich Road End	DF/SS	Green Logs			Per m3UB
	F32066	33/67		Column 3 indicates the spec	sies percentage split.	
2.03	MORAY, ABERDEENSHIRE	16 cm	1000 M3UB Roadside	3.1 - 4.8 m 22	01/07/16 to 31/12/16	£
	Altonside	SS	Green Logs			Per m3UB
	F29579					
1	I			I		1

			LOG DESCRI	PTION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.04	MORAY, ABERDEENSHIRE	16 cm	1200 M3UB Roadside	3.1 - 4.9 m 29	15/08/16 to 28/02/17	£
	Curlusk F32179	MS	Green Logs			Per m3UB
2.05	MORAY, ABERDEENSHIRE Chapelhill F32191	16 cm SS	2000 M3UB Roadside Green Logs	3.6 - 5.0 m 28	27/06/16 to 30/09/16	£ Per m3UB
2.06	MORAY, ABERDEENSHIRE Glenniston F32197	JL/SS 11/89	920 M3UB Roadside Green Logs	3.6 - 5.0 m 37 Column 3 indicates the spe	27/06/16 to 31/10/16 cies percentage split.	£ Per m3UB

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.07	MORAY, ABERDEENSHIRE	16 cm	1800 M3UB Roadside	3.6 - 5.0 m 29	27/06/16 to 31/10/16	£
	Brownhill F32198	SS	Green Logs			Per m3UB
2.08	INVERNESS,ROSS, SKYE	16 cm	1100 M3UB Roadside	3.1 - 4.9 m 30	18/07/16 to 30/11/16	£
	Balnagarline	DF/MS	Green Logs			Per m3UB
	F32204	18/82		Column 3 indicates the spec DF only available up to leng		
2.09	INVERNESS,ROSS, SKYE	16 cm	500 M3UB Roadside	3.1 - 3.7 m 24	30/07/16 to 31/12/16	£
	Redburn	SP	Green Logs			Per m3UB
	F32205					

	1		LOG DESCRIPT	ION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.10	GALLOWAY	16 cm	1000 M3UB Roadside	3.7 - 4.9 m 25	27/06/16 to 30/11/16	£
	Fleet Basin F32082	SS	Green Logs			Per m3UB
2.11	WEST ARGYLL Tarbh	1 16 cm	750 M3UB Roadside Red Logs(80%Green)	3.1 - 4.9 m 29	25/07/16 to 31/12/16	£ Per m3UB
	F32217	50/50		This is a Green log parcel w Column 3 indicates the spec		
2.12	WEST ARGYLL	16 cm	2100 M3UB Roadside	3.1 - 4.9 m 26	25/07/16 to 31/12/16	£
	Tarbh	SS	Red Logs(80%Green)			Per m3UB
	F32218			This is a Green log parcel w	ith a 20% Red log element.	

			LOG DESCRIPTI	ON		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED BH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.13	WEST ARGYLL	16 cm	2100 M3UB Roadside	3.1 - 4.9 m 20	25/07/16 to 31/12/16	£
	Black Rock 1	SS	Red Logs(80%Green)			Per m3UB
	F32222			This is a Green log parcel wi	th a 20% Red log element.	
2.14	WEST ARGYLL	16 cm	2100 M3UB Roadside	3.1 - 4.9 m 20	25/07/16 to 31/12/16	£
	Black Rock 2	SS	Red Logs(80%Green)			Per m3UB
	F32223			This is a Green log parcel wi split will be approx 50% shor	th a 20% Red log element. Log t logs.	
2.15	COWAL AND TROSSACHS	16 cm	2000 M3UB Roadside	3.7 - 4.9 m 26	01/07/16 to 30/10/16	£
	Orange Hill	SS	Red Logs(75%Green)			Per m3UB
	F32143			This is a Green log parcel wi	th 25% Red log element.	

			LOG DESCRIPT	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.16	SCOTTISH LOWLANDS	16 cm	3000 M3UB Roadside	3.7 - 4.9 m 21	01/07/16 to 31/10/16	£
	Heathland 89034	SS	Red Logs(50%Green)			Per m3UB
	F31803			This is a Green log Parcel w	ith a 50% Red log element.	
2.17	SCOTTISH LOWLANDS	16 cm	1200 M3UB Roadside	3.7 - 4.9 m 22	18/07/16 to 31/10/16	£
	Lennox 71073	ss	Red Logs(30%Green)			Per m3UB
	F31805			This is a Red log parcel with	a 30% Green log element.	
2.18	GALLOWAY	16 cm	1000 M3UB Roadside	3.7 - 4.9 m 25	27/06/16 to 30/11/16	£
	Fleet Basin	ss	Red Logs(70%Green)			Per m3UB
	F32083			This is a Green log parcel wi	ith a 30% Red log element.	
		1	I	I		1

			LOG DESCRIPT	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH MEAN SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.19	GALLOWAY	16 cm	2000 M3UB Roadside	3.7 - 4.9 m 25	27/06/16 to 30/11/16	£
	Bught Burn	SS	Red Logs(70%Green)			Per m3UB
	F32084			This is a Green log parcel wit	h a 30% Red log element.	
2.20	GALLOWAY	16 cm	1000 M3UB Roadside	3.7 - 4.9 m 27	27/06/16 to 30/11/16	£
	Killgallioch	SS	Red Logs(70%Green)			Per m3UB
	F32085			This is a Green log parcel wit	h a 30% Red log element.	
2.21	GALLOWAY	16 cm	1000 M3UB Roadside	3.7 - 4.9 m 20	27/06/16 to 30/11/16	£
	Gala Lane	SS	Red Logs(70%Green)			Per m3UB
	F32086			This is a Green log parcel wit	h a 30% Red log element.	
	1	I		l		I

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED MEAN DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.22	INVERNESS,ROSS, SKYE	16 cm	650 M3UB Roadside	3.1 - 3.7 m 29	18/07/16 to 30/11/16	£
	Balnagarline	MC	Red Logs			Per m3UB
	F32203			Sub-division of MC (JL 38%	s, SP 30%, DF 16%, MS 16%).	
2.23	WEST ARGYLL	14 cm	650 M3UB Roadside	2.5 - 3.1 m 26	25/07/16 to 31/12/16	£
	Tarbh	SS	Short Green A			Per m3UB
	F32219					
2.24	WEST ARGYLL	14 cm	650 M3UB Roadside	2.5 - 3.1 m 20	25/07/16 to 31/12/16	£
	Black Rock	SS	Short Green A			Per m3UB
	F32224					
	I	I	I			· '

		1	LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.25	GALLOWAY	14 cm	600 M3UB Roadside	2.5 - 3.1 m 25	27/06/16 to 30/11/16	£
	Bught Burn	SS	Short Green A			Per m3UB
	F32087					
2.26	GALLOWAY	14 cm	600 M3UB Roadside	2.5 - 3.1 m 20	26/06/16 to 30/11/16	£
	Killgallioch	SS	Short Green A			Per m3UB
	F32088					
2.27	WEST ARGYLL	30 cm	300 Tonnes Roadside	3.1 - 4.9 m 65	25/07/16 to 31/12/16	£
	Tarbh	SS	Other Logs			Per tonne
	F32215			Green log percentage is app	prox. 75%.	
	I	ı	I	I		1

			LOG DESCRIP	ΓΙΟΝ		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.28	MORAY, ABERDEENSHIRE	20 cm	300 Tonnes Roadside	2.5 - 6.2 m 35	25/07/16 to 31/12/16	£
	Old Moss	SS	Other Logs			Per tonne
	F32229			Green log percentage is app	orox. 10%.	
2.29	COWAL AND TROSSACHS	25 cm	800 Tonnes Roadside	4.9 - 6.2 m 28	01/07/16 to 30/09/16	£
	Orange Hill	SS	Other Logs			Per tonne
	F32144			Green log percentage is app	orox. 70%.	
2.30	SCOTTISH LOWLANDS	55 cm	100 Tonnes Roadside	4.9 - 4.9 m 60	01/07/16 to 31/08/16	£
	Lennox 24 & 44	SS	Other Logs			Per tonne
	F32099			Green log percentage is app	prox. 20%.	
	1	I		I		

			LOG DESCRIPT	ION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.31	GALLOWAY	30 cm	800 Tonnes Roadside	4.8 - 4.9 m 25	27/06/16 to 30/11/16	£
	Fleet Basin	SS	Other Logs			Per tonne
	F32089			Green log percentage is app	rox. 70%.	
2.32	GALLOWAY	30 cm	600 Tonnes Roadside	4.8 - 4.9 m 21	27/06/16 to 30/11/16	£
	Queensway	SS	Other Logs			Per tonne
	F32090			Green log percentage is app	rox. 60%.	
2.33	GALLOWAY	30 cm	600 Tonnes Roadside	4.8 - 4.9 m 27	27/06/16 to 30/11/16	£
	Tannilaggie	SS	Other Logs			Per tonne
	F32091			Green log percentage is app	rox. 70%.	
			I			1

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.34	COWAL AND TROSSACHS	30 cm	250 Tonnes Roadside	4.9 - 6.2 m 31	01/07/16 to 30/09/16	£
	Corriechrombie	GF	Other, General			Per tonne
	F32142			Red log percentage is appro	ox. 70%.	
2.35	SCOTTISH LOWLANDS	55 cm	100 Tonnes Roadside	3.0 - 3.0 m 60	01/07/16 to 31/08/16	£
	Garshellach	ss	Other, General			Per tonne
	F32152			Red log percentage is appro	ox. 100%.	
2.36	WEST ARGYLL	8 cm	300 Tonnes Roadside	2.0 - 3.0 m 18	25/07/16 to 31/12/16	£
	Meall Mhor Waterfall	ss	Chipwood			Per tonne
	F32225					
	I		ļ	I		1

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.37	MORAY, ABERDEENSHIRE	7 cm	500 Tonnes Roadside	3.0 - 3.0 m 20	18/07/16 to 31/10/16	£
	Braes Of Glenbervie F32228	LP	Chipwood			Per tonne
2.38	GALLOWAY Kilgallioch F32095	6 cm	1500 Tonnes Roadside Chipwood	2.9 - 3.0 m 20	27/06/16 to 30/11/16	£ Per tonne
2.39	GALLOWAY Gala Lane F32096	6 cm	500 Tonnes Roadside Chipwood	2.9 - 3.0 m 20	27/06/16 to 30/09/16	£ Per tonne

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.40	GALLOWAY	6 cm	2000 Tonnes Roadside	2.9 - 3.0 m 24	27/06/16 to 30/11/16	£
	Fleet Basin F32097	MC	Chipwood			Per tonne
2.41	WEST ARGYLL Tarbh F32216	8 cm SS	600 Tonnes Roadside Pulpwood	2.9 - 3.0 m 29	25/07/16 to 31/12/16	£ Per tonne
2.42	WEST ARGYLL Black Rock F32220	8 cm SS	500 Tonnes Roadside Pulpwood	2.9 - 3.0 m 20	25/07/16 to 31/12/16	£ Per tonne

			LOG DESCRIPT	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND MEAN SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.43	WEST ARGYLL	8 cm	1200 Tonnes Roadside	2.9 - 3.0 m 18	25/07/16 to 31/12/16	£
	Meall Mhor Waterfall F32226	SS	Pulpwood			Per tonne
2.44	MORAY, ABERDEENSHIRE Hill Of Blacklodge F32227	7 cm SS	600 Tonnes Roadside Pulpwood	3.0 - 3.0 m 21	04/07/16 to 31/10/16	£ Per tonne
2.45	TAY Allean Quarry	7 cm	300 Tonnes Roadside Woodfuel	2.0 - 6.2 m 45	27/06/16 to 31/08/16	£ Per tonne
	F32064			Approximately 50% of this lo	ot comprises deadwood.	

		1	LOG DESCRIPT	ION		1
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.46	TAY	7 cm	100 Tonnes Roadside	3.0 - 3.0 m 30	27/06/16 to 31/08/16	£
	Errochty Thresh	мс	Woodfuel			Per tonne
	F32067			Approximately 50% of this lo	t comprises deadwood.	
2.47	MORAY, ABERDEENSHIRE	7 cm	700 Tonnes Roadside	2.9 - 3.1 m 30	27/06/16 to 31/10/16	£
	Gallon O Water	MS	Woodfuel			Per tonne
	F32199			Approximately 20% of this lo Butt cuts are located on top i		
2.48	MORAY, ABERDEENSHIRE	7 cm	350 Tonnes Roadside	2.9 - 3.1 m 30	27/06/16 to 30/10/16	£
	Gallon O Water	MS	Woodfuel			Per tonne
	F32200			Approximately 20% of this lo Butt cuts are located on botto		

		LOG DESCRIPT	TION		
LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
MORAY, ABERDEENSHIRE	7 cm	250 Tonnes Roadside	3.0 - 3.0 m 25	04/07/16 to 31/10/16	£
Goauch Wood	МС	Woodfuel			Per tonne
F32230			Approximately 60% of this lo	t comprises deadwood.	
MORAY, ABERDEENSHIRE	7 cm	200 Tonnes Roadside	3.0 - 3.0 m 25	04/07/16 to 30/11/16	£
Scolty	МС	Woodfuel			Per tonne
F32231			Approximately 50% of this lo	t comprises deadwood.	
LOCHABER	5 cm	1000 Tonnes Roadside	2.8 - 3.1 m 21	01/07/16 to 31/01/17	£
Greenwoods	MC	Woodfuel			Per tonne
F32168					
	MORAY, ABERDEENSHIRE Goauch Wood F32230 MORAY, ABERDEENSHIRE Scolty F32231 LOCHABER Greenwoods	MORAY, ABERDEENSHIRE Goauch Wood F32230 MORAY, ABERDEENSHIRE 7 cm MC Scolty F32231 LOCHABER Greenwoods DIAMETER UB AND SPECIES	MINIMUM TOP DIAMETER UB AND SPECIES MORAY, ABERDEENSHIRE Goauch Wood F32230 MORAY, ABERDEENSHIRE F32231 MORAY, ABERDEENSHIRE F32231 MORAY, ABERDEENSHIRE F32231 MORAY, ABERDEENSHIRE F32231 MC MC MC MC MC MC MC MC MC M	MORAY, ABERDEENSHIRE 7 cm 250 Tonnes Roadside 3.0 - 3.0 m 25	MORAY, ABERDEENSHIRE 7 cm 200 Tonnes Roadside 3.0 - 3.0 m 25 04/07/16 to 31/10/16

			LOG DESCRIPT	ION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.52	COWAL AND TROSSACHS	7 cm	200 Tonnes Roadside	2.9 - 3.1 m 22	01/07/16 to 31/08/16	£
	Greenburn	ss	Woodfuel			Per tonne
	F32012			Approximately 30% of this lo	t comprises deadwood.	
2.53	COWAL AND TROSSACHS	7 cm	150 Tonnes Roadside	2.9 - 3.1 m 22	01/07/16 to 31/08/16	£
	Greenburn	SS	Woodfuel			Per tonne
	F32013			Approximately 30% of this lo	t comprises deadwood.	
2.54	SCOTTISH LOWLANDS	7 cm	100 Tonnes Roadside	2.5 - 4.9 m 27	01/07/16 to 31/08/16	£
	Kingshill 82901	ss	Woodfuel			Per tonne
	F32123			Approximately 5% of this lot	comprises deadwood.	
ĺ	I	1	I	1		1

			LOG DESCRIPTION				
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH	STAND MEAN OBH (CM)	COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.55	SCOTTISH LOWLANDS	7 cm	150 Tonnes Roadside	3.0 - 3.0 m 2	28	01/07/16 to 31/08/16	£
	Garshellach	МВ	Firewood				Per tonne
	F32153						
	ı		I	ı			1